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=> restart
> odel = diff (x(t), t) =-sigma-x(t) + rho-y(t)
odel = jt x(t)=-ocx(t) +py(t) 0))
> ode2 == diff (v(1), 1) = sigma-x() -y(t) — x(£) 2 (1)
ode2 = iy(t)ZGx(t) —y(t) —x(¢) z(¢) 2)
> ode3 == diff (z(1), 1) = ~beta-z (1) + x(1) (1)
ode3 = jtz(t)z -Bz(t) +x(t) () 3)
> sigma := 10; rho := 28; beta := %
c:=10
p =28
8
B=7 “)

> ans = dsolve({odel, ode2, ode3,x(0) =1.0,y(0) =1.0,z(0) = 1.0}, {x(2), (), z(¢) },
numeric, range = 0 .. 40)
ans = proc(x_rkf45) ... end proc &)
> with (plots) :
> curvex := odeplot(ans, [t,x(t)], refine=2)

curvex = PLOT(...) 6)
[ > curvey = odeplot(ans, [t,y(t) ], refine =2, color = green)

curvey .= PLOT(...) @)
> curvez = odeplot(ans, [t,z(t) ], refine =2, color = blue)

curvez = PLOT(...) )]
:> #?document mode

c_lisplay(curvex) B display (curvey) c_lisplay(curvez)
> display(curvex) 3 > display(curvez)
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> odeplot(ans, [x(t),y(t),z(t)],t=0 ... 40, refine = 3, axes = box)
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> display (curvey)
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